in chroma diagram (a*pgs, b*pgs)

XYZw=84.1998 , 88.59 , 96.46 B Parame{ | XYZw=84.1998 ,88.59 ,96.46 p* Parame:
=@-a)Y +40 ter: N a* =500 @' -a’,) Y13 +120 ter: N
B=({-byY b* =500 b’ - b',) Y13
a=ap [xly] a =ay [x/y]13
b=bo [z G4 o b = by [2hf13 Ca iy,
ap=1 e 2,=[1/X,]1/3=0.2191 Ry
b,=-0,4 Ge A by=-[1/Z,]1/3=-0.08376 Ge *
n=D65 . . 405 Or, Al fn=pes N dpes a
T A\ =) v I T A4 T Lt
-40 40 -120 Cy 120
LABCab 85 Ca CIELAB 76
Name and chromaticity Name and chromaticity B
Rysree X=0,64 y=0,33 Rysree X=0,64 y=0,33 e Mg
Gd:RGB x=0,30 y=0,60 Be By Mg GGVZRGB x=0,30 y=0,60
Bgsree X=0,18 y=0,06 Bysree X=0,18 y=0,06 d
Device and elementary coloursy,,,=88,6 Device and elementary coloursY,,=88,6
of the sSRGBcolour space for D65 T-40 of the sSRGBcolour space for D65 T-120
in chromatic value diagram (A, B) in CIELAB diagram (a*, b*)
CGT60-5A AES71-5N CGT60-6A AES71-6N
XYZw=84.1998 , 88.59 , 96.46b*D65 Parame: XYZw=84.1998 , 88.59 , 96.46 B* Parame:
a* =500 @' -a’,) Y3 +120 ter: N a*=500 @' -a,) Y3 +120 ter: N
b* = 500 p’ 7b'n) Y13 b* =500 b’ - b’,) Y3
)= 13 .
a’ = ay [x/y] G av = ap [xly + 1]
b =b, 213 d Ve b’ =b, [zly+ 1/6 13
2,=[1/Xpge 1/3=0.2191 Ry a, = 1/15 = 0.06666
by=—{1/Zpes] 3=-0.083765, a* b, = -1/12 = -0.08333
n=D65 ' ' C)DGS ' D§5 n=D65 '
120 Cy 120 -120
CIELAB D65 LABHNU1 79
Name and chromaticity Name and chromaticity
gd,sRGB X=ggé y=g,gg Be Mg gd,sRGB X=g,gg y=8,gg
x=0, =0, x=0, =0,
Bysnan ¥=0.18 3=006 o BosRoD =018 3-0,06
Device and elementary coloursy,,,=88,6 Device and elementary coloursy,, =88 |
of the sSRGBcolour space for D65 T-120 of the sSRGBcolour space for D65

in chroma diagram (A*, B¥)

CGT60-7A AEST71-7N

CGT60-8A AES71-8N

CGT60-7N




